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∫ b

a

(f(x) + g(x))dx =

∫ b
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f(x)dx +
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g(x)dx
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αf(x)dx = α

∫ b

a

f(x)dx
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[a, c], [c, b]
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∫ b

a

f(x)dx =

∫ c

a

f(x)dx +
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c

f(x)dx
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[a, b]
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x ∈ [a, b] [�\ � f(x) <= g(x)
=��

7�=�>�5� �I�L�V�7�1
∫ b

a

f(x)dx <=
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g(x)dx
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∫ b

a

τ (x)dx = b − a(3)
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∫ b

a
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b <= a
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a = b
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∫ b

a

f(x)dx = 0

b < a
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∫ b

a

f(x)dx = −

∫ a

b

f(x)dx
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xi = a +
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(b− a)
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ξi = xi
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f(xi)(xi − xi−1) =
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f(xi)
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∫
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f(x)dx
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c (a < c < b)
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b − a

∫ b

a

f(x)dx = f(c)

 �I�L�V�7�1
ç�è E�C

f
��é�ê ` � M

"�é�ë ` � L
=HV+7�1

L <= f(x) <= M
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∫ b

a

Ldx <=

∫ b

a

f(x)dx <=
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Mdx
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∫ b

a

f(x)dx <= M
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b − a
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f(x)dx = f(c)
 �I�LÚV

7�1
c
�

c = a + θ(b − a)
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f(x)dx = f(a + θ(b − a))
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